

נוסחאות

$$Y = XS + u$$

$$Y_{n \times 1} = X_{n \times k} S_{k \times 1} + u_{n \times 1}$$

$$Y_i = S_1 + S_2 X_{2i} + S_3 X_{3i} + \dots + S_k X_{ki} + u_i$$

$$\begin{aligned} e'e &= (Y - Xb)'(Y - Xb) \\ &= Y'Y - b'X'Y \\ &= y'y - b'x'y \end{aligned}$$

$$e = MY \quad M = I - X(X'X)^{-1}X'$$

$$\text{trace}(AB) = \text{trace}(BA)$$

$$AX = I \quad S = \dots \quad AY$$

$$\begin{aligned} \underset{k \times 1}{b} &= (X'X)^{-1}X'Y & V(b) &= \uparrow^2 (X'X)^{-1} \\ \underset{(k-1) \times 1}{b} &= (x'x)^{-1}x'y & V(b) &= \uparrow^2 (x'x)^{-1} \end{aligned}$$

$$\uparrow^2 = S^2 = \frac{e'e}{n-k}$$

$$\frac{c'b - (c'S)_{H_0}}{\sqrt{S^2 c'(X'X)^{-1}c}} \sim t_{n-k} \quad H_0 : c'S = \Delta$$

$$\hat{Y} \pm t_{n-k, \frac{\alpha}{2}} \sqrt{S^2 X_0'(X'X)^{-1}X_0} \quad X_0 = (X_{1_0}, \dots, X_{k_0}) \quad Y$$

$$\hat{Y} \pm t_{n-k, \frac{\alpha}{2}} \sqrt{S^2 (1 + X_0'(X'X)^{-1}X_0)} \quad X_0 = (X_{1_0}, \dots, X_{k_0}) \quad Y$$

$$\frac{R^2 / (k-1)}{(1-R^2) / (n-k)} \sim F_{k-1, n-k}$$

$$\frac{(Rb - r)'[R(X'X)^{-1}R']^{-1}(Rb - r)/m}{e'e/(n - k)} \sim F_{m, n-k} \quad H_0: R_{m,k} S_{k,1} = r_{m,1}$$

$$\frac{\frac{RES}{UNRES} (e'e - e'e)/m}{e'e/(n - k)} \sim F_{m, n-k}$$

$$nR^2 \sim t_{k-1}^2 : \quad LM$$

$$\frac{(\sum e^2 - \sum e^2)/m}{\sum e^2/(n - k - 1)} \sim F_{m, n-k-1} \quad : (\quad) \text{ W A L D}$$

$$\frac{(\bar{R}^2 - R^2)/m}{(1 - R^2)/(n - k - 1)} \sim F_{m, n-k-1} \quad \text{UNRES_ RES-}$$

. $k - H_0 -$ m

:LM

$$nR_e^2 > t_{m,r}^2 \quad H_0 \quad r \text{ " } : \quad m$$

. $e = e_1, \dots, e_n$ () : m

$$.nR_e^2 > t_{m,r}^2 \quad H_0 \quad r \text{ " } .R_e^2, \quad _ e$$

$$\bar{R}^2 = 1 - \frac{\sum e^2/(n - k - 1)}{\sum y^2/(n - 1)}$$

$$\bar{R}^2 = 1 - (1 - R^2) \frac{n - 1}{n - k - 1}$$

$$Y = r + uD + sX + u \quad :$$

$$Y = r + sX + uD \cdot X + u \quad :$$

$$Y = r + u_1D + sX + u_2D \cdot X + u \quad :$$

$$Y = r + u_1D_1 + u_2D_2 + u_3D_1 \cdot D_2 + u \quad :$$

CHOW

$$\frac{\left(\sum^{all} e^2 - \left(\sum^{period1} e^2 + \sum^{period2} e^2 \right) \right) / (k+1)}{\left(\sum^{period1} e^2 + \sum^{period2} e^2 \right) / (n-2(k+1))} \sim F_{k+1, n-2(k+1)}$$

$$Y = \alpha + \beta_1 X_1 + \beta_2 X_2 + \beta_3 X_3 + \dots + u$$

$$: X_2 - X_1$$

$$H_0 : \beta_1 = 0 \quad :1$$

$$H_0 : \beta_2 = 0$$

$$H_0 : \beta_1 = \beta_2 = 0$$

$$F_{1,2}^2 > R_{0.12}^2 :2$$

$$V(u_i) = \sigma^2 :$$

White

תבנית WHITE עם האופציה CROSS עבור מודל עם 3 מסבירים :

$$e_i^2 = \underbrace{\alpha_0 + \alpha_1 X_{1i} + \alpha_2 X_{2i} + \alpha_3 X_{3i}} + \underbrace{\alpha_4 X_{1i}^2 + \alpha_5 X_{2i}^2 + \alpha_6 X_{3i}^2} + \underbrace{\alpha_7 X_{1i} X_{2i} + \alpha_8 X_{1i} X_{3i} + \alpha_9 X_{2i} X_{3i}}$$

$$H_0 : \alpha_1 = \alpha_2 = \dots = \alpha_m = 0$$

$$nR^2 \sim \chi_m^2$$

GLS

$$Y = X\beta + u$$

$$E(u) = 0$$

$$E(uu') = \sigma^2 \Omega$$

$$E(X'u) = 0$$

$$\hat{S}_{GLS} = (X'\Omega^{-1}X)^{-1} X'\Omega^{-1}Y$$

$$V(\hat{S}_{GLS}) = (X'\Omega^{-1}X)^{-1}$$